
https://www.pass2lead.com/ns0-163.html
2024 Latest pass2lead NS0-163 PDF and VCE dumps Download

 

 

 

NS0-163Q&As

Network Appliance Data Protection Solutions

Pass NetApp NS0-163 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/ns0-163.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by NetApp
Official Exam Center

 

 

Latest NS0-163 Dumps | NS0-163 PDF Dumps | NS0-163 Study Guide                                1 / 3

https://www.pass2lead.com/ns0-163.html
https://www.pass2lead.com/ns0-163.html
https://www.pass2lead.com/ns0-163.html


https://www.pass2lead.com/ns0-163.html
2024 Latest pass2lead NS0-163 PDF and VCE dumps Download

QUESTION 1

For a configuration change to be effective when using the OSSV configurator, the OSSV service must be restarted. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

Node 1 in a clustered pair detects that it has lost connectivity to one of its disk shelves. Node 1 is still up, but it cannot
see one of its disk shelves. However, the partner node, Node 2, can see all of Node 1s disk shelves. Which one of the
following features will cause Node 2 to monitor this error condition for a period of three minutes (by default), and then
forcibly take over Node 1 if the error condition persists? 

A. Takeover on panic 

B. Negotiated Fail Over 

C. Auto enable of giveback 

D. cf.quickloop.enable 

Correct Answer: B 

 

QUESTION 3

Snapshot copies for SnapLock volumes are deleted automatically according to the retention count set in the Snapshot
schedule. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 4

When you are setting up SnapMirror, which one of the following is not a replication pre-requisite? 

A. SnapMirror must be licensed for each storage appliance. 

B. The source volume must be offline. 

C. If you are replicating a volume, you must create a restricted volume to be used as theSnapMirror destination volume. 

D. The capacity of theSnapMirror destination must be greater than or equal to the capacity of the source. 
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Correct Answer: B 

 

QUESTION 5

One week ago you performed a single file SnapRestore from a snapshot other than the most recent. You now notice
that the storage appliance is now taking longer to perform snapshot deletions. Which one of the following reasons is the
most likely cause of this problem? 

A. Snapshots that existed after the one used for the single fileSnapRestore need to be manually deleted. 

B. The SnapRestore schedule changed from weekly to hourly. 

C. All of the snapshots created after you did the single fileSnapRestore were deleted, and reserved inodesfrom the
snapshots still exist. 

D. Before a snapshot can be deleted, the active maps across all snapshots need to be checked for active blocks related
to the file you restored. 

Correct Answer: D 
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